## GOVERNMENT OF N.C.T. OF DELHI OFFICE OF THE EXECUTIVE ENGINEEER, C-1 011-25454271

NIQ No.07/EEC-1/DUSIB/2020-21/D-

Dated: 16.07.2020

## NOTICE INVITING QUOTATIONS

Executive Engineer,C-1, DUSIB on behalf of Delhi Urban Shelter Improvement Board invites quotations from intending agencies on percentage rates basis in sealed cover for the following works:-

SL.No.	Name of Work	Estimated Cost	Time
1	N.O.W: Construction of JSC (Revenue) SH:Replacement of damaged water storage tank from roof of lobby of JSC to roof of distant pump room and allied works at JSC at JJ cluster Indira Camp No-5 Vikaspuri Head of A/C: Pay & Use JSC (Revenue)		15 days

The quotations shall reach the office of the Executive Engineer, C-1, DUSIB, Raja Garden, New Delhi-110027 latest by 3.00 PM on 18.07.2020 which shall be opened on 18.07.2020 at 3.30 PM in the presence of intending quotationers or their representatives. The intending quotationers may collect the schedule of quantities and other information from the office of the Executive Engineer, C-1, DUSIB. The terms & Conditions of the quotation are as follows:-

- The work shall be carried out as per CPWD specifications 2014 Vol I&II with upto date correction slips.
- Payment shall be made as per actual measurement at site of work.
- 3. No T&P shall be issued.
- Conditional quotations shall be liable to rejection.
- For any disputes the matter shall be referred to SE-I DUSIB for final decision and the same shall be binding upon both the parties.
- Statutory recoveries shall be deducted from the bills of contractor as per rules.
- Work shall be completed to the satisfaction of Engineer-in-charge.

8. Debarred/blacklisted agencies shall not be permitted to submit quotations.

**EXECUTIVE ENGINEER, C-1** 

NOTICE BOARD
Publication on DUSIB Website

NOW:- Construction of JSC Revenue

SH:- Replacement of Damaged water storage tank from roof of lobby of JSC to roof of distant Pump Room and allied works at JSC JJ Cluster Indira Camp no. 5 Vikaspuri. (AC-31).

4			1	-		0.24740000000000000000000000000000000000	
	Ref. No	Description of Item	Qty.	Unit	Rate	Rate	Amt.
	18.7	Providing and fixing Chlorinated Polyvinyl Chloride (CPVC) pipes, having thermal stability for hot & cold water supply, including alli CPVC plain & brass threaded fittings, including fixing the pipe with clamps at 1 00 m spacing. This includes jointing of pipes & fittings with one step CPVC solvent cement and testing of joints complete as per direction of Engineer in Charge.				(in words)	
(B)	18.7.1	: Internal work - Exposed on wall : 15 mm nominal outer dia. Pipes.	40.00 /	metre	142.95	Rupees One Hundred Forty Two and Ninety Five Paise Only	5,718.00
		mm nominal outer dia. Pipes.	39.00	metre	179.95	Rupees One Hundred Seventy Nine and Ninety Five Paise Only	5.398.50
2		3 : Internal work - Exposed on wall : 25 mm nominal outer dia .Pipes.	10.00	metre /	216.20	Rupees Two Hundred Sixteen and Twenty Paise Only	2,162.00
201		5 Providing and fixing Chlorinated Polyvinyl Chloride (CPVC) pipes, having thermal stability for hot & cold water supply including all CPVC plain & brass threaded fittings. This includes jointing of pipes & fittings with one step CPVC solvent cement, trenching, refilling & testing of joints complete as per direction of Engineer in Charge: External work: 40 mm nominal outer dia. Pipes.	40.00 /	metre	321.15	Rupees Three Hundred Twenty One and Fifteen Paise Only	12,846.00
67	1	approved quality and colour. 15mm nominal bore, 86 mm long. Weighing not less than 88 gms.	30.00	No.	103.30	Rupees One Hundred Three and Thirty Paise Only	3,099.00
	4 18 t	approved quality and colour. 15 mm nominal bore, 86 mm long. Weighing not less than 88 gms.		No.	103.30	Rupees Four Hundred Eighty Seven Only	1,033.00
	1	<ol> <li>Providing and fixing gun metal gate valve with C.I. wheel of approved quality (screwed end): 25 mm nominal bore</li> </ol>	1.00	No.	428.20	Rupees Sixty Five Hundred Only	428.20

	A 1	Providing and fixing gun metal gate valve with C.I. wheel of approved quality (screwed end): 20 mm nominal bore	1.00	No. /	396.55	Rupees Sixty Three Hundred Only	396.55
7 1	1.37	Providing and laying Ceramic glazed floor tiles of size 300x300 mm(thickness to be specified by the manufacturer) of 1st quality conforming to IS: 15622 of approved make in colours such as White, Ivory, Grey, Fume Red Brown, laid on 20 mm thick cement mortar 1:4 (1 Cement: 4 Coarse sand), jointing with grey cement slurry @ 3.3kg/sqm including pointing the joints with white cement and matching pigment etc, complete.	10.50	Sqm	688.35	Rupees Six Hundred Eighty Eight and Thirty Five Paise Only	7,227.68
8	11.36	Providing and fixing 1st quality ceramic glazed wall tiles conforming to 1S: 15622 (thickness to be specified by the manufacturer), of approved make, in all colours, shades except burgundy, bottle green, black of any size as approved by Engineer-in-Charge, in skirting, risers of steps and dados, over 12 mm thick bed of cement mortar 1:3 (1 cement: 3coarse sand) and jointing with grey cement slurry @ 3.3kg per sqm, including pointing in white cement mixed with pigment of matching shade complete	30.80	Sqm /	744.80	Rupees Seven Hundred Forty Four and Eighty Paise Only	22,939.84
9	18.7	6. Cutting holes up to 30x30 cm in walls including making good the same: With common burnt clay F.P.S. (non modular) bricks.	32.00	No.	219.20	Rupees Two Hundred Nineteen and Twenty Paise Only	7,014.40
10	4.1.	Providing and laying in position cement concrete of specified grade excluding the cost of centering and shuttering - All work up to plinth level : 1:2:4 (1 cement : 2 coarse sand(zone-III) : 4 graded stone aggregate 20 mm nominal size)	0.50	Cum (	5481.95	Rupees Five Thousand Four Hundred Eighty One and Ninety Five Paise Only	2,740.98

Providing and placing on terrace (at all floor levels) polyethylene water storage tank ISI: 12701 marked, with cover and suitable locking arrangement and making necessary holes for inlet, outlet and overflow pipes but without fittings and the base support for tank.; Circular tank	2000.00	Litre	7.25	Rupees Seven and Twenty Five Paise Only	14,500.00
Add 15.69% as per GNCTD			Total		85,504.15 13,415.60 98,919.75 -9,397.38
	floor levels) polyethylene water storage tank ISI: 12701 marked, with cover and suitable locking arrangement and making necessary holes for inlet, outlet and overflow pipes but without fittings and the base support for tank.: Circular tank	floor levels) polyethylene water storage tank ISI: 12701 marked, with cover and suitable locking arrangement and making necessary holes for inlet, outlet and overflow pipes but without fittings and the base support for tank.: Circular tank  Add 15.69% as per GNCTD	floor levels) polyethylene water storage tank ISI: 12701 marked, with cover and suitable locking arrangement and making necessary holes for inlet, outlet and overflow pipes but without fittings and the base support for tank.: Circular tank  Add 15.69% as per GNCTD	tank ISI: 12701 marked, with cover and suitable locking arrangement and making necessary holes for inlet, outlet and overflow pipes but without fittings and the base support for tank.: Circular tank  Add 15.69% as per GNCTD  Total	floor levels) polyethylene water storage tank ISI : 12701 marked, with cover and suitable locking arrangement and making necessary holes for inlet, outlet and overflow pipes but without fittings and the base support for tank. : Circular tank  Add 15.69% as per GNCTD